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(1) The Objective Resolution was adopted in:

(a) 1947

(b) 1949

(c) 1951

(d) None of these

Answer: (b)

(2) This is the parting of ways was said by:

(a) Quaid e Azam

(b) Allama Iqbal

(c) Pandit Nehru

(d) None of these

Answer: (a)

(3) The quorum of House of Commons is:

(a) 20 members

(b) 30 members

(c) 40 members

(d) None of these

Answer: (c)

(4) The Indian parliament is:

(a) Unicameral

(b) Bicameral

(c) Tricameral
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(d) None of these

Answer: (b)

(5) The American Senate comprises:

(a) 99 Senators

(b) 100 Senators

(c) 101 Senators

(d) None of these

Answer: (b)

(6) The tenure of French President is fixed at:

(a) 5 years

(b) 7 years

(c) 9 years

(d) None of these

Answer: (a)


